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A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
2AM: N
HE: GEHE =5
S HEA M =E (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
N & ot 22,073,946 21,298,566 775,380
= 1,131,786
< 20,942,160
A=W &5 22,043,642 21,262,760 780,882
= 1,131,786
< 20,911,856
OHEA N+ =2 22,043,642 21,262,760 780,882
= 1,131,786
< 20,911,856
METLEE M 864,060 811,667 52,393
201 Let24E] 10,800 13,600 A 2,800
01 At 22l 10,800 13,600 A 2,800
OXNLEANE 2Z 2,600
OXZLN & N+ Atcl Z2EU 23 1,000
ostecI 24 1,200
SHAHEE =3 6,000
202 o4dl 21,000 27,000 26,000
01 = LH o4 1l 21,000 27,000 A 6,000
OXNgN=5U & XNEA 28 g2 N 21,000
303 &3 34,000 104,000 A70,000
01 L& = 34,000 104,000 A70,000
OXEA & M=+ 2 SSEI 34,000
306 ¢ 2 136,195 138,484 A2,289
01 &3 136,195 138,484 A2,289
OXNLNHARE &= 136,195
308 X XIEHHSOIA 31,526 23,574 7,952
M3 2S0HetE & XA E A I 31,526 23,574 7,952
OXNFHMA-LHEAAE R 2tel 23,574
OXMUHXEMEZAAY R E S 7,952
403 MtXISHH S =0l & 628,539 505,009 123,530
02 SO 2SOICHeH U2 X 2 E A I 628,539 505,009 123,530
OXMUXLMEBAAY 25 559,026
OXHUHXNEAA=LEBAAEH 2= 69,513
405 XHoHF S HI 2,000 0 2,000
02 =M=l 2,000 0 2,000
OXNEAMN &EX 7€ 2,000
THY ExZa3 XsS 2 100,000 50,000 50,000
303 Z& 3 100,000 50,000 50,000
01 243 100,000 50,000 50,000
OZAMY H==ZaaH 29 100,000




2N
X ZH -
L= B

el

Al

=l

RETWE &5
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEE XNEA 2HAME 29 13,500 12,500 1,000
201 £B-2d| 12,400 11,200 1,200
01 At 22l 12,400 11,200 1,200
OXNLANA2 L INFHA AZ =< 12,400
202 o4dl 1,100 1,300 A 200
01 = LH o4 1l 1,100 1,300 A 200
OXEAl Olodld & 28 Xl 1,100
=123 XN 19,890,096 19, 146,000 744,096
308 XtXIEHHSOIA 19,890,096 19, 146,000 744,096
02 8+N2F= 19,890,096 19, 146,000 744,096
OZAH === 19,890,096
MHSZAL =& 23,000 30,200 AT7,200
202 04l 23,000 30,200 AT7,200
01 = LH 4 Hi 23,000 30,200 AT7,200
ORI AN BN A 6,000
OXZH SENFEZA 7,000
OANZ MRXE 34 10,000
NeA HESA =& 16,000 16,000 0
201 £B-2dH| 16,000 16,000 0
01 At 22/l 16,000 16,000 0
Oz & JIEEAH AMIEENY HI M= 16,000
HE =& JpAB A NA(=1) 1,131,786 1,190,193 A 58,407
= 1,131,786
308 XXM SO0l A 1,131,786 1,190,193 A 58,407
= 1,131,786
01 IXNHHBNEES 1,131,786 1,190,193 A 58,407
OME =8I 28 - SAl HIE 1,131,786
= 1,131,786
NEA Meg2el =8 5,200 6,200 A 1,000
202 44l 5,200 6,200 A 1,000
01 = LH 4 1l 5,200 6,200 21,000
OF - AT &= HSEHAX, It M 3,700
OAZ XNEEZ 1,500
HY2AZ G (ME D) 30,304 35,806 A 5,502
JlE &3l 30,304 35,806 A5,502
2EM28 Jl2Z 30,304 35,806 A5,502
201 €24 18,580 20,266 A 1,686
01 At 22l 18,580 20,266 N1,686
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M HE2IZH (ME )
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORAM2Y AtR22ltl 18,580
202 oddl 7,524 11,340 A 3,816
01 = LH 4 1l 7,524 11,340 A 3,816
ORMEE =U0HI 7,524
203 YR =&l 4,200 4,200 0
04 ENSSHRF=EHI 4,200 4,200 0

4,200






